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PART A — (10 x2= 20 malks)

\([entlon some of the major 1esponslblht1ee of a database admmlstl atm

Gwe an example for one to one and one to nlany reIatloneinps '

What are aggregate functlons‘? And 11et the agglegate functmns supported by

S sQLy

Write a SQL statement to find the names-and loan numbele of all customels'_

who have a loan at \YZ ln anch. -
nghhght the role of a recovery management component. * -

Give the dlawbacks of ehadow pagmg teehmque

+

W hy is.a B+ t1ee uenally p1efened as.an acces$ structure toa data fila?

What are the ways in w}nch the Vauable length lecmds 1eplesented in -

o database systems?

How ar_e transactions performed in Object oriented database?

How spatial databases'are-n_lore. helpful than active database?
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13.

(a)

)

{(a)

()

" (b)

" PART'B — (5 x 13.= 65 marks) .

Construct an E-I¥ diagram for a car-insurance company whose customers
own one or more cars each. Each car has associated with it zepo to any .
number of recorded accidents. State any assumptions you make. -

Or

Sﬁppose that we have the following three tuples in a legal instance.of a -
relation schema S with three attubufes ABC (hsted in order): (1 2 ,3)y

(4,2,3), and (5,3,3).

(1) Which of the followmg depende11c1es can you 1nfe1 does not hold_

ovet, schema 5?7
(1)A——>B (2 BC—aA (3)Bﬁ\C

- -(ii), - Can’ you 1de11t1fy any.dependenmes th_at hold over S?

-001131de1 the fcllomng relational schema

Emplcyee (empnc name, offlcc age)
Books (isbn, title, authors, publisher)

Lo'aﬁ (e'mpno-isbn, date) -

* Write the following queries in relational a-lgebra

(i) Find the names of employees who have bonowed a book Published
by XYZ Ltd, ¢ :

(D Fmd the names of employees wh(‘) have bonowed all - books
Pubhshed by XY7 Ltd.,.

(1i1) Find the names of employees who have b01rowed more than five

different books published by XYZ Ltd

_(iv)- . Far each Pu_bhsher, find the names" of employees-- who have -

borrowed more than five books of that Publisher. -

lOr

()  Since indices speed quc1 y-processing why m1ght they not be kept o1
- several scalch keys? List 8 many reasons as Possible.

e

(ii), How does a DBMS 1epresent a 1e1at10nal quer y evaluatlon plan‘? :

Explain the me_thods used to handle Dcedl_cck.

Or _
() Differentiate strict two phase leckmg pmtocol and rigorous two_
phase locking pmtocol . _ S T (B)
(ii) How the tlme stamps are 1mplemented'7 E\plam IR .(7) '
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- 16.

()

()

(@)

o

@

o

(D) Ccmpaie and contr ast between ob}ect cuented and XML databases

@) Explain why allocations of records to blocks affect database systenl

pelfonnance significantly. . o - : 5)

- (1) Expiam the concept of Deadleck avmdance and prevention in detail.

G

Or

(i) - Fxplain how i’eliability can be improved through 1'edundancy'? - (6)

(1) How the records are 1eplesented and 01gfnnzed in files. Explain
v1th suitable example. . : . (7)

'D1scuss the i issues and steps involved in buﬂdmg a data walehouse How

the concept of 1e1at10nal wew is 1elated to data wa1ehouse and data
marts? . - o

Or

()

(i) .- Give _XML representation of bank'niaﬁagement system and also

“explain about Document Type Deﬁnition alid XML schema. ~ (6) =

-

PART C— (1 P 15 =15 malks)

Given: VAR Exam Malks BASE RELATION { Student ID SID,
Course 1D CID, Mark INTEGER} KEY {Student ID, Course 1D};

- Write down the relational algebra expression to give, for each pair of -

students sitting in the same exam, the absolute value of difference
between the marks. Assume you can write ABS (x) to obtain the absolute

value of x. -

Or

Give an example of a relation Lhat is in 3NF but not in BCNI‘ How wﬂl )

you convelt ‘that relatlon into BCNI‘
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